EB Wysluchaj rozmowy miedzy dziennikarks a slynnym projektantem mody — Panem
Trendy. W kazdym zdaniu 1-6 podkresl informacje zgodna z trescia nagrania.

Il Mz Trendy is speaking mn the studio / New York.
2 Yellow / Blue 1s the trendiest colour this spring.
3 The pertect colours for women / men are light blue and light grey.
4 Hats / Scarves are trendy for both men and women.
5  Youcan /can’t buy Mr. Trendy’s collection in many sizes.

6  Mr. Trendy’s clothes are / aren’t very expensive.

B3 Uzupelnij zdania 1-6 odpowiednimi wyrazami z ramki.

clothes  florist's ehemsts- butcher’s newsagent’s bookshop

1 People buy medicine m a chemist’s.

(]

I always buy beautiful and fresh flowers in the next to my house.

3  There are many elegant dresses in this shop.

4 My mum buys delicious sausages and ham 1n a local

5 Uncle Tom often buys a daily newspaper i a small at the bus
station.

6  There are many interesting books 1n this

Bw kazdym ze zdan 1-6 podkresl poprawna odpowiedz.

[a—

Thus jacket 1s too small. It does not fit / try / follow you.

[§]

This sweatshirt has got very long sleeves / ties / scarves.

3 Let’s go to the changing room. I would like to try on / find out / change these
trousers.

4 There are some beautiful jackets on / in / at the sale at the BOEWORKSHEETS



5 My uncle always looks very awful / different / smart. He loves elegant suits, shirts

and ties.

6  Susan and Tom always pay for their shopping in / by / for cash.

3 Uzupelnij zdania 1-6 formami stopnia najwyzszego przymiotnikéw podanych w
nawiasach.

I This shoe shop 1s the (expensive) most expensive shop in the shopping centre.

2 Susan s a very clever student. She 1s the (good) student 1 our school.
3  Helen’s red dress 1s the (beautiful) of all her dresses.

4 Adam 1s the (short) of all the boys.

5 Uncle Frank 1s the (nice) of all my uncles.

6 My new scarf 1s the (colourful) ot all my scarves.

Uzupelnij zdania 1-6 odpowiednimi formami przymiotnikéw z ramki.

good small taH expensive warm  fast

1 Adam 1s the tallest boy in the class. He 1s 152 cm tall. All the other boys are 145-147
cm tall.

2 The red car costs 20,000 pounds. The blue car costs 17,000 pounds. The red car 1s
than the blue one.

3 Ann’s new coat is perfect for a cold winter. It 1s than her old jacket
and parka.

4 Alice can run 100 meters in 13 seconds: the other girls run 100 meters 1n 14 seconds.
Alice 1s of all the gurls.

5  You can buy meat in a butcher’s than in a supermarket.

6  Emuly takes a small size, Teresa a medium and Gina a large. Emuily wears
clothes of all the girls.

toLIVEWORKSHEETS



B3 Przeczytaj dialog miedzy Timem a sprzedawca (shop assistant), nastepnie w kazdej
luce 1-6 zaznacz poprawng odpowiedz a lub b.

TIM: Good morning! I'1 for a new parr of sunglasses. How much 2
the sunglasses in the blue box on the top shelf?

SA: Theyare3 sunglasses 4 our shop. They cost 120 euros.
TIM: Do you have 5 sunglasses than these?

SA:  Yes, the ones m the white box cost only 48 euros. They are very 6

1 a look b am looking

2 ais b are

3 a more expensive b the most expensive
4 aim b of

2 a cheap b cheaper

6 a elegant b more elegant
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